@ () Using the identity for cos (4 + B), prove that cos 8= | — q gin? (3 6). | €% ks &
|

!
(b) Prove that 1 + sin g— cos &= P sin (+ 6)fcos (+8) +sin (+9)]. Stake N

|
(c) Hence, or otherwise, solve the equation

‘ 1+sin6-cos6=0, 0<g<2r.

fx)=x+ = 2T ER x>,
‘ W= x-1 x¥42x-3°"
z Skexe q,
(a) Show that f{x) = x—‘”—’;iﬂf
‘ x+

(b) Solve the equation £’ xy=2.

@ As a substance cools ts temperature, T °C, is related to the time (¢ minutes) for which it has been
cooling. The relationship is given by the equation

T=20+60e" ;>0.

(@) Find the value of 7 when the substance started to cool.
(b) Explain why the temperature of the substance is always above 20°C,

- ESN
- Ta =T ¢ I 4
(¢) Sketch the graph of T againstt. L 4, K = 2, &
&

(d) Find the value, to 2 significant figures, of ¢ at the instant T= 60,

|
|
|
|
!

dT
ind — .,
(e) Fin 5

dy _T
@ (1) Given thaty=tan x +2 cos x, find the exact value of 5, ax= e

d T e
(i) Given thatx =tan 1y, prove that d—i— = e Stekce

(iii) Given that y = ¢* .sin 2x, show that % can be expressed in the form R e™* cos (2x + ). Find,

: T
to 3 significant figures, the values of Rand a, where 0 <g < EY |

Scanned by CamScanner



Solve these equations for 0°

1) CoOs2X+cosx+1 =
2 COSX = sin (=

) S X sm(z)

3) Sin 2x cos X + sin?x = 1

4) 2sinx (5cos2x + 1) = 3 sin 2x
| 5) 3cot2x+ cotx =1

S X < 360°
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